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Sample Paper – 2010

Class – IX
Subject – Mathematics

(ONE MARKS)

1. 
[image: image1.png]Which of the following is a zero of the polynomial x*-6x*+11x-6?
(a0 (b) -1
(01 (d) -2




2.

[image: image2.png]An angle which is 14° more than its complement i
(a) 52° (b) 14°
(c) 76° (d) 38°





3.

[image: image3.png]In the following figure value of 'x' is
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(a)5 (b) 10




4.

[image: image4.png]How many circles can be drawn passing through three collinear points?
(a) 1 (b) 2
(c) Infinite (d)0




5.

[image: image5.png]E and F are the mid-points of opposite sides AB and CD of a
parallelogram ABCD, then ar(||gm AEFD) : ar(||gm EBCF) =

(a) 1:1 (b) 1:2

(013 (d) 2:1




6.
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7.

[image: image7.png]The volume of a cylinder of height 7 cm is 448 xcm’. Its curved
surface area is

(a) 352 cm? (b) 448 cm*

(c) 532 cm? (d) 350 cm?




8.

[image: image8.png]Length of one of the diagonals of a rhombus of side 15 cm is equal to
18cm.Length of its other diagonal is equal to

(a) 12 cm (b) 9 cm

() 24 cm (d) 13 cm




(2/3/4 Marks Questions)
9.
[image: image9.png]Without calculating cubes, find the value of
(-12)3 + (7)3 + (5)3




10.

[image: image10.png]In equilateral triangle KLM, P Q and R are the mid-points of KL, LM and
MK. Prove that APQR is also equilateral.




11.

[image: image11.png]The mean of 10 numbers is 20. If 5 is subtracted from every number,
then find the mean of the new set of observations.




12.

[image: image12.png]Prove that largest side of a right triangle is hypotenuse.




13.

[image: image13.png]In the given figure, it is given that AD||BC. Prove that ar(ACGD) =
ar(AABG)
c




14.

[image: image14.png]The median of the following observations arranged in ascending order
is 24. Find x.
11,12, 14,18, x + 2, x + 4, 30, 32, 35, 41




15.

[image: image15.png]If the sum of length, breadth, and depth of a cuboid is 18 cm and the
length of its diagonal isJ10, then what is the surface area of the
cuboid?




16.

[image: image16.png]Show that the bisectors of two consecutive angles of a parallelogram
intersect at right angles.




17.

[image: image17.png]In the following figure, OO is a line segment joining the respective
centre of two intersecting circles and PQ||00". Prove that 00" %PQ.





18.

[image: image18.png]In an isosceles triangle ABC with AB = AC, a circle passing through B
and C intersects the sides AB and AC at D and E respectively. Prove
that DE || BC.




19.

[image: image19.png]A piece of butter 3 cm by 3 cm by 12 cm is placed in a conical cup of
diameter and height 7.5 cm. If the butter melts in to the cup, will the
cup overflow?




20.

[image: image20.png]In the following figure PA = PB, A and B are the points on side QR such
that QA = BR than prove that APQR is an isosceles triangle.
3




21.

[image: image21.png]The volume of a cube is x* -15x* + 75x- 125 cubic units. Find the
possible dimensions of the cube
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